CBSE Class 12 Taxation Compartment Question Paper 2017 (July 17, Set 4- 306)
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e Please check that this question paper contains 8 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.
e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed -at “10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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Time allowed : 3 hours Maximum Marks : 60
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(v) FIT GEIT18 T 22 TF & J97 Y TIETH FTH & & a9T Iodd J97 3 37 & & | TH &Y

g UG U Y97 &7 I 70 JG] & 3715 &7 787 817 T80 |
(vi) FIT GEIT23 T 26 TF & J97 G189 I & & a1 Jdeb J97 5 3h 1 & | GIHIT &9 & 04

T Y97 7 I 150 5] & 38 &7 787 5147 16T |
(vii) IR TIETT TUT fagaR &I FTET |/

General Instructions :

(i) All questions are compulsory.
(i1)) Marks for questions are indicated against each question.
(iii) Question nos. 1 to 9 are very short answer questions carrying 1 mark each.

(iv) Question nos. 10 to 17 are short answer questions carrying 2 marks each. Answer
to them should not normally exceed 50 words each.

(v)  Question nos. 18 to 22 are also short answer questions carrying 3 marks each.
Answer to them should not normally exceed 70 words each.

(vi) Question nos. 23 to 26 are long answer questions carrying 5 marks each. Answer to
them should not normally exceed 150 words each.

(vii) Answer should be brief and to the point.

. TS a9 e VT 3796 1X W GrT 80 H1 e 3T=id sheld! ST & oTel fehegl al
¢ Tt sp1 Soeig it | 1

State any two assessees who are allowed deduction u/s 80 C for National Saving
Certificates VIII issue or IX issue.

0. heald TR UYA AT H AISH H 91 80 E Y St o 3T=did sheld] o TeTd shiF 3T1eehTl
8 7 1

Who 1s entitled to deduction 1n respect of contribution to pension scheme of Central
Govt. u/s 80 CCD ?

3. e foTar ofHT I h ToTT Teh Sk g YTd <hi g U1 X 9T 80 & o6 31wl 9Tl
! JAATY T IecT@ hITIT | 1

State the period of holding under unit linked insurance plan for deduction u/s 80 C for
the amount paid by an individual.

4. 9T 194 1 o 3= Al a7 shidas IsoT ATE | Sid 9T Fid 9 HL sheld] hi Teh Tl
1 ITT TohdT ST 18T 7 1

What condition should be satisfied to deduct tax at source from winnings from
lotteries or crosswords puzzles etc. u/s 194 B ?
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5. MM L PWIAH hl <Idl fhdehl & ? 1

Who 1s liable to pay advance tax ?

6. < e ITIId &l 3T dTell foheail Gl el o IGTEll GIiwiT | 1

State any two examples of goods outside VAT.

7. held foshl T ok fOTU “BH H T EAT8 7 1

What is ‘Form C’ 1in Central Sales Tax ?

8. I AN St shl HTGIIhT o [oh=gl Gl [SG31 Thl Ieo1@ hIlT | 1

State any two points giving the need of introducing VAT.

0. AT KL H ‘Taulid INad- HRIYUITA T =T A B 7 1

What 1s meant by ‘Reverse Change Mechanism’ in Service Tax ?

10. 9 80 St St &fl o T=A7Id TIfehcdl @d X heldl b1 GET A o ToTd Gl <l ST el I1dl
&1 Ie1d hiToTT | 2

State the conditions which must be satisfied the claim deduction in respect of medical
treatment u/s 80 DDB.

1. foxa & 2015-16 o foTT 80 a9 & 3{{&reh 31 b 3ifd I ANTRERT bl L <FdT hl VT
T b 1018 SATTEHT ohl Tiall Bl Icei@ hITaTT | 2

State the income. tax slabs for financial year 2015-16 for very senior citizens aged 80
years and above on the basis of which their tax liability 1s computed.

2. 3R ATUHIH, 1961 o TTEAUMI eh AR Tsh Stk shl b AT I hl TUET HH
U =R’ qam ‘ot I I Hel T Y ST | 2

For calculation of taxable income of an individual according to the provisions of
Income Tax Act 1961, give the meaning of the terms °‘Individual’ and ‘Taxable

Income’.

13. ST L YR I L HYI! sl ITRH S YT b ToI hg Hehdl & YT LTt
ST 379 319 FTe] I Shl 3TUHT 37T T STTHH T b TITd oL ol 31T 3T AT il

AT 8 ? THATST | 2

Can the assessing officer ask the assessee to pay advance tax or the tax payer has to
pay advance tax at his own after estimating his own current year income ? Explain.
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14, “3TR-USA qAT ‘3Aq:Ts Toshl 1 =T 37U 8 7 39 bR hl To5h1 &1 Iooi@ hitore 5
L he 13 TaIshl oht < BT @ AT I8 Hi Iooig hifolu foh I8 I T BIAT 2 | 2

What 1s meant by ‘Interstate’ and ‘Intrastate’ sales ? State the type of sale in which

CST 1s payable and also the state where the CST 1s payable.

15. 9Rd 4 AThTd ISIAT3Tl a7 Al 9 AT L o 7 YL 1 S dredt 3dl i Ieaid
<hITTT | 2

State any two conditions that should be fulfilled in order to charge service tax from
individual provider as well as companies 1n India.

16. IdTHL b A= “HIROP ST T 7L 3 7 2

What 1s meant by ‘Abatement’ in Service Tax ?

17. ST T =Td Gl o foru 3traed &) fopaehl e 21t & 7 39 wid &1 Sevi@
shifSTe T8 gstientor o foTT ST vt BiaT 8 92T 31aty fSred 39 Aeed HE1 sa @ | 2

Who 1s liable to apply for registration under Service Tax ? State the form, which he
has to submit for registration and the period within which he has to apply for

registration.
18. Yday2015-16 % Telt Ta - 3791 311 oh =1 Torator e fohu 3
(1) o9 9.3 Z 3,60,000
(i) Qrerehlei GSiiTd oy Z 1,20,000
(iii) TR 9T TehT T 2,500 id |@TH

99 H IGH Fresieh Hiasy i d T 5,000 ST YIdM TohAT 94T T 12,000 THHHA
TS TEd <hIY T ST T |
YR a8 2016-17 o T 3FhT L AT AT h TUHT i ToT |

X submits the following particulars of his income for the previous year 2015-16 :

(1) Income from salary < 3,60,000
(1) Long term capital gain X 1,20,000
(111) Rent received < 2,500 p.m.

During the year, he paid X 5,000 in public provident fund and ¥ 12,000 to Prime
Minister National Relief Fund.

Calculate his taxable income for the assessment year 2016-17.
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19. Y a9 2015-16 o 7T YehTST 39T 3T oh T+ ToaLor T&d fohU : 3

(i) TaE™E I ™ Z 2,60,000

(i) o SE Y YSIT TH Z 12,000

(iii) Teh WRA o G IF a9 T 1,600

(iv) Teh ®H H STHT W ITH &1 % 27,000 579 T HId T hL Shatdt 10% o |

394 1-4-2015 =1 T 50,000 s TFE s=d 9= (= VI <61 sk foham qem Siia s
T o foTt 35,000 1 YA TohaT |

RO 99 2016~ 17 o ToTq 35! BT ehed 3T hl TUMT it |

Prakash has given the following particulars of his income for the previous year

2015-16:
(1)  Profits of business X 2,60,000
(1) Capital gain on sale of a building X 12,000

(111) Dividend received from an Indian company < 1,600

(1v) Interest received on deposit in a firm I 27,000 from which tax deducted at
source was 10%.

He purchased National Saving Certificate (VIII 1ssue) of < 50,000 on 1-4-2015 and
paid < 5,000 for Life Insurance Premium.

Calculate his gross total income for the assessment year 2016-17.

20. UHT Toheail i TRATGT shT1 oo hiteiu 95 9T 194 T o 3T=7d |id 9L T shaldl ohl
ohig STTERAhdl Jal aidl | 3

State any three circumstances under which there 1s no requirement of deduction of tax
at source u/s 194°A.

21. Ta= foawon 9 32 awia TS g/ a9 2016-17 & foft PraE fohU ST arel 3710 & <6l

IMEIRILEIE IS 3
(1) I AT A % 4,34,000
O ERESUCEIRIEIE Z 9,000 (A T T 1,000 L sheldl = I34Td)

(iii) 99 H TP §=d 941 ° Haw Z 80,000
(iv) HESH® Yo Hig A e 20,000

For the year 2016-17 compute the amount of advance tax to be paid by Raja, age 32
years from the following details :

(1) Taxable business income < 4,34,000
(1) Interest on debentures X 9,000 (after TDS X 1,000)
(111) Investment in NSC during the year < 80,000
(1v) Investment in PPF < 20,000
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22, HATHL HI T 1A & ? U1 hL ohl fohral el TIRINdI3Tl shl Iooig hifolu | 3

What 1s meant by Service Tax ? State any two features of Service Tax.

23. HYRUTaY 2016-17 o 1T “Ta” bl 37 § = FiTerd o - 5
(i) SATTETRIh o % 5,50,000
(i) oTeehTetH YSiiiTd TRETaaT | Feaf-ard doird oy 313,000
(i) WRAT I Y ITH AT Z 9,000 (HheT)
(iv) <iedl ¥ Sid (Fehet) Z 1,00,000
ISl 9y Tad g ot T Wi i o
(i) <% g0 TP GL&T N | g 3 15,000
(i) YA Sed s Fm AW (NEH e @I ®@®@ie) T 12,000
o7 3q 01 hi fohea
(i) H=ar 99 Yiasy [y 3 IrreH Z 50,000

(iv) 1-4-2012 < 99=Tdq 3794 STl I3 o 3 2,00,000 b S8 i Sfie STHT Gifere] 9
TH=H T 25,000

(v) 9YMHA] 3R Ugd ¥ H g Z 10,000

T 80 EY h 3=l Wk <h] Siia ST dm 9ieasy 418 371Te 9T &1 S STeft shaltadl <hl
T <h1 0T ShiIfSTE 9T 910 80 S o 3T=aTd TS @M1 9t &t ST T Sheltdal shl T
<h1 TTUTT <hIfSTY |

For the Assessment Y.ear 2016-17, X’s income consisted of the following :

(1) Business profits < 5,50,000
(1) Capital gains in respect of short-term capital assets < 13,000

(1) Dividends from Indian companies X 9,000 (gross)

(1v) Winning from lottery (gross) < 1,00,000

Payments made by X during the previous year were as follows :

(1)  Donations to National Defence Fund by cheque X< 15,000

(1) Instalment of house construction loan from LIC of India (which 1s self-occupied)
X 12,000

(111) Contribution to recognized P.F. < 50,000

(1v) Premium on the life policy of his major son taken after 1-4-2012 amounted to
X 25,000, sum assured X 2,00,000

(v) Donations to Prime Minister’s Drought Relief Fund X 10,000

Calculate the amount of deductions allowed to X u/s 80 C for LIC, PF etc. and u/s 80
G for various donations.
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24, YT aY 2016-17 H AU IR hl I AT TS =
STIETRIS ATH

(i) TTEehTet YSHITd SATH

(iii) GrerehTeie YoiiTd Ty

(iv) WA HHEHAT S ATHT (T
(v) el 9 Sid (Fhet)

94 2015-16 4 918 gRI YIAH = JhR I -
g Yiasd e 4 ST

(i) WA S SR ShIqRIM bl
Tarfehcat ST b oW =ieh gIRT YT
(iii) TQaamT 3T o Tafhca &3

(iv) F9HE= TYF TEd I H P
dTg hi L AT T h! TUMT HiTT |

Ad

306

(1)

(1)

X 5,50,000
X 13,000

< 23,000

< 9,000

< 1,00,000

< 30,000

< 22,000

< 16,000
< 5,000

For the assessment year 2016-17, Y’s income 1s given below :

(1)
(11)
(iii)
(1v)
(V)

Payments made by ‘Y’ during the year 2015-2016 were as follows :
Deposit in PPFX 30,000

(1)

Business profits

Short-term capital gain

Long term capital gains

Dividend from Indian companies (gross)
Winning from lotteries (gross)

X 5,50,000
< 13,000
X 23,000
4 9,000
X 1,00,000

(1) Medical insurance paid by cheque to G.1.C. of India X 22,000

(111) Expenses X 16,000 on medical treatment of disabled dependent
(1v) Paid X5,000 in P.M. National Relief Fund
Compute taxable mcome of Y.

YT 9% 2016-17 o foi@ “3R” 9 4= Toraor T&qd fohT | 35eh! oL AT <A1 hi TTUHT
I |

(1)

(iii) T T TsF Al 9 S1d (Tehed)
(iv) Sie AT JifeEm 1 JraH

(V)

(vi) HTSTS o JATUHd 918

HehTd IFITd O 3T (TT0HET <hl 7T5)
EECEINIER CIUGESIE

STl 9 3T

X 3,18,000
X 40,000
< 50,000
4 5,000
< 14,000
<

65,000
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The following particulars are submitted by R for the assessment year 2016-17.
Calculate his tax lhiability.

X
(1) Income from house property (computed) 3,18,000
(1) Long-term capital gains 40,000
(111) Lottery winning from M.P. State (gross) 50,000
(1v) Life insurance premium paid 5,000
(v) Income from betting 14,000
(vi) Notified bonds of NABARD 65,000
26. (¢ UST o9 hl & 12% &, al T4 =T H hC A Torshl qAT L AT <l TTUMFT HITST - 5
(i) M H o fo%g b5 Toshl L o FA=Iq feishl Higd Iy 2015-16 i Het Teishl

 16,62,600

(ii) 17-1-2016 I Teh shal 4 17-8-2015 =l 3H T 1,66,260 hl a9 T Al H H
T 33,252 (€t vH 3t wigd) °1A ol a1iud fema |

(iii) HTeT 1 Teh 31 shl T 24,990 AT o foTe ® “di” 78 ¢ 9mm |

From the following information, compute the taxable turnover and tax hability when

the State VAT rate 1s 12% :

(1)  Total sales value mmcluding CST applicable against Form C 1s X 16,62,600 for the
year 2015-16.

(1) A buyer of goods to whom goods worth X 1,66,260 were sold on 17-8-2015
returned-goods worth I 33,252 (inclusive of CST) on 17-1-2016.

(111) Another buyer of goods could not provide ‘C’ Form for goods worth < 24,990.
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